SOLUTIONS  [Dk

Edexcel GCSE
Mathematics (Linear) — 1MAO

SPHERES AND CONES i

Materials required for examination Items included with question papers
Ruler graduated in centimetres and Nil

millimetres, protractor, compasses,

pen, HB pencil, eraser.

Tracing paper may be used.

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name, centre number and candidate number.
Answer all questions.

Answer the questions in the spaces provided — there may be more space than you need.
Calculators may be used.

Information

The marks for each question are shown in brackets — use this as a guide as to how much time to
spend on each question.

Questions labelled with an asterisk (*) are ones where the quality of your written communication
will be assessed — you should take particular care on these questions with your spelling, punctuation
and grammar, as well as the clarity of expression.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Diagram NOT accurately drawn
The diagram represents a cone.
The height of the cone is 12 cm.
The diameter of the base of the cone is 10 ¢cm.

Calculate the curved surface area of the cone.
Give your answer as a multiple of 17,
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Diagram NOT accurately drawn

The radius of the base of a cone is 5.7 cin.
Its slant height is 12.6 cm.

Calculate the volume of the cone.
Give your answer cotrect to 3 significant figures.
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Diagram NOT
accurately drawn

A cone has a base radius of 5 cm and a vertical height of 8 cm.
Calculate the volume of the cone.

Give your answer correct to 3 significant figures.
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4.  The diagram shows a child’s toy.

The toy is made fro
The cone and hemis
The total height of't
Work out the volunr
Give your answer ¢
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Diagram NOT
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The diagram shows a solid hemisphere of radius 8 cm.

Diagram NOT
accurately drawn

Work out the total surface area of the hemisphere.
Give your answer correct to 3 significant figures.
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Diagram NOT
accurately drawn
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12 cm 3.5cm

A rectangular container is 12 cm long, 11 cm wide and 10 cm high.
The container is filled with water to a depth of § cm.

A metal sphere of radius 3.5 cm is placed in the water.
It sinks to the bottom.

Calculate the rise in the water level.
Give your answer correct to 3 significant figures.
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— 40cm Diagram NOT
accurately drawn
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A frustum is made by removing a small cone from a similar large cone
The height of the small cone is 20 ¢cm

The height of the large cone is 40 cm

The diameter of the base of the large cone is 30 cm
Work out the volume of the frustum

Give your answer correct to 3 significant figures

Hc@h‘c Sriadl. co m~a

_‘5; b4 "\.e_ti\'\t \,Ouse_ Cora
So

roodaans Srmaxl corma

15"

%
- &

J wl—

\/O\M-Q. l_.cx.fsi (oo

\/ow Sﬁ\&.\-—\- cSsSv Qo

-

=L s)* @

= Lw (1.9)*(2e)
2 3
= 3000w = XIS w
\/O\w /\':f\,gst% = VDL ch/a& Cerna

= 3CcO0T™ - X1Sw

= 2285w

RL Ak . BET e

¥ 250 L&s,_f,)

'''''''''''''''''''''''''''''''''''''''''

cm

L % raclis op Levge cons
2-

Vel Srmrmaes L Coarma

3

(Total 4 marks)




